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QUESTION 1

Clyde is working on a Web page for his company\\'s intranet. He wants to insert an HTML comment within the page to
let other developers know that the page validates as HTML5 and that he is the page author. Which line of code will
insert the comment that Clyde requires?

A. Il Clyde Davis, 9/17/2012. This code validates to HTML5

B.

C. I*Clyde Davis, 9/17/2012. This code validates to HTML5 */

D.

Correct Answer: D

QUESTION 2

Marion has been hired by a small business to determine why its Web site does not attract users. As Marion interviews
different members of the company, she learns that when the site was first created, the external Web developer did not
produce any documents specifying the basic requirements for the site. As a result, the site did not have a defined
purpose and was not designed for the company\\'s audience. Additionally, the site navigation did not make sense from a
users point of view. Marion considers this information, then she recommends that the company create which
document?

A. Wireframe

B. Storyboard

C. Marketing slideshow

D. Non-disclosure agreement

Correct Answer: B

QUESTION 3

The process of wireframing typically includes determining Web site goals plus:

A. Outlining project timelines and budget constraints, and identifying site stakeholders.

B. Outlining project timelines and budget constraints, and identifying audience requirements.

C. Outlining the development and marketing process, and identifying audience requirements.

D. Outlining the development process and site navigation, and identifying required technologies.

Correct Answer: D

1D0-61B VCE Dumps | 1D0-61B Study Guide | 1D0-61B Braindumps 2/6


https://www.leads4pass.com/1d0-61b.html
https://www.leads4pass.com/1d0-61b.html
https://www.leads4pass.com/1d0-61b.html

https://lwww.leads4pass.com/1d0-61b.html

L eads 4 PHSS 2024 Latest leads4pass 1D0-61B PDF and VCE dumps Download

QUESTION 4

Which Web-based validation tool is used to validate HTML documents?
A. www.vischeck.com

B. www.jigsaw.w3.0rg

C. www.validator.w3.org

D. www.cynthiasays.com

Correct Answer: C
QUESTION 5

Web pages structured with which tag will fail W3C validation tests, no matter what standard is used?

A.

Correct Answer: B

QUESTION 6

Which code is best for embedding video into an HTML5 page?
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“ A, <video width="360" height="270" controls="cpmtrp:;s" poster="image.png'>
<source sre="video.mpd" tyvpe="video-mpd"
{source sroe="video.welk" tvpe="videoswebm' o
<gsource sro="video.ogg" type="videosogg"
Your hrowser does not support the HIMLS wides element.
<ovidens

© B, ¢video width="360" height="270" controls="cpmtrp:s" poster="image.png':
<gource sro="video.wek" tyvpe="video-swshm' o
<source sre="video.ogg" tyvpe="videosogg" o
Your hrowser does not support the HIMLS widea element.
<ovidens

« C, <video width="360" height="270" controls="cpmtrp:s" poster="image.png":>
<source sro="video.mpd" tvpe="video-mpd"
<source sre="video.wek" type="video-swelbm" -
Your browser does not support the HIMLS vides element.
<oyldeal

 D. <¢video width="360" height="270" controls="cpmtrp:s" poster="image.png">
<source sre="video.mpd" tyvpe="video-mpd"
<source sro="wvideo.ogg" type="videosogg" S
Your browser does not support the HIMLS wideo element.
<ovideas

A. Option A
B. Option B
C. Option C
D. Option D

Correct Answer: A

QUESTION 7

Consider the following HTMLS5 code:

< |DOCTYPE html:
<html lang="en":»
<head?>
<titlerMy Favorite Movie (Juotes<-title’
<link rel="stylesheet" href="css-styvles.css"- >
< head>
<hody s
<p» This Weh site is devoted to my favorite movie guotes. These iconic movie gquotes have
heen used time and again but will newver lose their appeal. </
<pr CAPTAIM (Strotler Martin) in Cool Hand Luke (196%)
‘hlockgquoter "Whot we'wve got here...is o follure to communicate." <~“hlockguote:
<SP
< hody?>
< html>

The code does not validate as HTML5. Why?
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A. The tag is missing.
B. The tag and its attributes are missing.
C. The
tag should be used outside the
tags.
D. The IDOCTYPE declaration is missing a reference to the Document Type Definition (DTD).

Correct Answer: C

QUESTION 8

Which type of intellectual property includes business plans, proprietary code and sales contracts?
A. Copyleft

B. Copyright

C. Trademark

D. Trade secret

Correct Answer: D

QUESTION 9

Which Web-based validation tool is used to validate Cascading Style Sheets (CSS)?
A. www.cynthiasays.com

B. www.validator.w3.org

C. www.vischeck.com

D. www.jigsaw.w3.0rg

Correct Answer: D

QUESTION 10

Acme Company has been receiving complaints from its suppliers saying that its extranet site does not render
correctly in all their employees\\' browsers. The suppliers are asking that the extra net site be fixed so that
everyone can access it, regardless of browser type. When examining this problem, the Acme Web
Development team finds that many developers worked on the site and each used code that he or she was
comfortable with. To resolve this problem, what can the Acme developers do?

A. Edit the code so that it consistently uses uppercase letters.
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B. Edit the code in several common browsers before publishing.
C. Edit the code so that it conforms to a single W3C HTML standard.
D. Edit the code so that it follows a single W3C scripting language standard.

Correct Answer: C
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